
 

 

1. Fill in the blank: 

 3 × 1 = _____ 

2. Count the images and answer: 

   

 How many apples? (Hint: 2 groups of 3) 

 3 × 2 =  

3. Choose the correct answer: 

 What is 3 × 4? 

 a) 7    b) 12    c) 10 

4. Match the following: 

 a) 3 × 2 i. 15  

 b) 3 × 3  ii. 6  

 c) 3 × 5  iii. 9  

5. Which number is in the table of 3? 

 a) 8    b) 9    c) 10 

6. Tick (✔) the correct statements: 

 a) 3 × 5 = 15   

 b) 3 × 4 = 11  

 c) 3 × 6 = 18  

7. Fill in the missing number: 

 3 × ____ = 21 

 

Multiplication Table of 3 



 

 

8. Count and write: 

                                                 

 (3 groups of 3 balls) 

 How many balls in total? _______ 

9. What comes next in the table of 3? 

 3, 6, 9, ____, 15,_____ 

10. Word Problem: 

 There are 3 balloons in one packet. 

 How many balloons in 5 packets? 

 3 × 5 =  

11. Circle the correct group: 

 Which group shows 3 × 3? 

a)   

 b)    

 c)  

12. Color 3 stars in each row: 

•                     

•                     

•                     

 Then write how many stars you colored in all: _________ 

13. Fill in the blanks using <, >, or = 

 3 × 3  3 × 4 



 

 

14. Complete the table of 3: 

a) 3 × 1 = 3 

b) 3 × 2 = 6 

c) 3 × 3 = 9 

d) 3 × 4 =  

e) 3 × 5 =  

f) 3 × 6 =  

15. How many? 

                                                          

 Count and write total fishes. 

 Answer:  

  


